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Full Marks : 70
Time : 3 hows

Answer any six questions i including Q. No. !

. The figures in the right-hand margin md!C&'fe mar kS

1. Answerthe followmg questions : 2 X '”1 0

(@) State the importance of trlbology in the
mdustry : : :

\S -(’b/ Define F luidity.
,(p/)@te the pro‘pcrtles of sblﬂ'{d lﬁbricant_

# State the types of restrictor ygeq
it
hydrostatic bearing. 1

L&)’Whal do you mean by q”ltcxed :
b o il](-‘[ai
earing *

( Turn (-)VE}- )



(2) : g
s | Y
/) Name two solid lurbricants- .
yy.Writc down the complete Reynolds equatio, ﬁ;‘;::;fora zmmffbea‘i“gha"ing diameter
in two dimensions. s Jed " _lcnggh 50 mm. Radial
” cocdrancc 043 mm and rotational speed
i1 State the advantages of long bearing ove i The viscosityof SAE 10 grade
short bearings. ' oil is 675 102 N sec/n. 5
Mmc a brief classification of lubricating oils. dfmwlﬂ‘in how heat balance in journal bearing’
] : " y s achieved ? 4
J State strengths of gas bearing.” \W{ ‘ ;
1/ Explain the following terminology : ‘6
5 i . i i i . .
) @’D! ucss the role of additives 1n .Iubncatmg {(#) Boundry lubrication
oil. Describe the common additives with o e
their applicatlons 5 (#i) Mixed lubrication
: Wit (iii) Elastohydrodynamic lubricati
) Determine the flow rate throughacaplllary | f ydrodynmaigiisicatiar.
of inside diameter 0-7 mir: and length2.8 meter. T /\(t;)/ State the advantages of pivoted pad over fixed
4 Theabsolute viscosity of fluid is 2 centipoise ) pad slider bearing. ¢
and the pressure difference mamtmned is , (b/\ 3
35 KPa. Assume ]ammar ﬂow ? 1o :" lt:eact‘angulu plane shiiegearing bas the
: ollowing specifications :
. -~ !S Arl 3 ‘
3. (gyDerive petroffs’ equation a“d state ! 5 fc“““g width = 80mm,  Bearing . *
sigmﬂcancc‘? 3 - pens('llh 150 mm, Load =20 KN, Sliding
0 ) . 3 : . speed =-2.0 m/!
: ) 1 of j m/s, Minimum oil
(5 Find the pOWer loss and coefficie™ = Ehe
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(4)

thickness = (.92 mm, Maximum oil film
thickness = 0-05 mm ang absolute viscosity
of oil is 0.02 Pas,

Find (/) The Joag carrying Capacity () pressurc.
at a distance 50 mm Mmeasure from (he

‘¢ Maximum film thicknesg Point. (Neglect
side lcakage)

g Describe the systems of hydrostatic

lubrication and js applicatipns. State the role -

of restrictors in hydrostatic bearing ?

3
@/ ¢ following data is givven foi 5 hydrostatic

bearing of a vertical turbo generator ;

Thrust load=450 KN shaft diameter=400 mm,

recesses diameter = 250'mm, shaf -

speed=750 rpm, viscosity of: lubricant=30 cp

Calculate the.oplimum film thicknegs for )

minimum power loss,

@) A full jour

nal -bearing ‘has'the following
specifications : g .: ; i
Radial load = 3.2 KN, journal speed 1490 tp,,

: . ] Continved )
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Journal diameter =

50 mm, bearing length = 50mm,
radial clearane

¢ = 0-05 mm, viscosity of
lubricant = 75 P Assume that the total heat
generated in the bearing is carried by the total
oil flow i the bearing

Find (i) cocfficient of friction (i) pow
friction (jify minimum ojj £}y, thickness (/v) flow
requirement ang ) femperature rige, 10

vB./Writc short notes

‘(ir)/Bcaring materials

er loss in

on any three - 10

\{ii)/Signiﬁcuncc of Stricbeck curve in lubrication

e _(ia‘i)Compensating elements
aring

L) Sommerfelg Number..

r

oF hydrostay;e
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